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NV Physics Quiz 2 - Vectors

Answer all of the following multiple-choice questions. Each is worth 5 points.

1. Find C = A + B, where A =-3i + 4j and B = -i + -3j.
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b) C=-2i+7j
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2. What is the magnitude of the vector A =i+ 2j -2k ?
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3. A is a vector that lies between the —x and —y axes. B is
parallel to —k. In what direction is the vector C= A x B ?

a) parallel to k

b) between +x and +y axes

c) between +y and —x axes 7

d) between —x and —y axes
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4.Find C=A * B where A=1i+2j+3k and B=2i-3j+k

e BT AR Bt AR
©-1 o] nie]

c)6

d) 11

e) 14

(
5. Find C = A - 2B where A = 2i-3j and b = -i + 2j
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d) C =4i-5j

e)C=4i-1j
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6. Find A » B where A =2i+j-2kand B=-i+3j-k
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7. The direction of vector C = A x B, where A=-2i + j and 9. Find A * B where A and B are vectors as shown below:

B =i - 5j is given by:
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a)C=i

b)C=-j

c)C=j
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8.FindC= 2A-3Bwhere A=-i+2j-kand B=-2i-j—k a3
a)C=-8i+j+k 07

b) C = -8i + 7j -5k
¢)C=4i+j+k
d) C=4i+7j-5k

C=4i+7+k 10. A =-3i and C = -67\2k. If C = A x B, which of the
following is a possible expression of the vector B?
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Part 2: Free — Response. There are two questions in this part, each worth 25 points. Show all your work and circle or box your
answers.

1. Given the following vectors:
A =-6i +2j -3k and B = 4i -3k

a) Find the magnitude of A.(5pts.) \j l = (-6 )1 +( 7‘3\- F( '3)" 3 7

b) Find the magnitude of B. (5pts.) (—é l = )"/L e (-g)‘]_ et ]

b

¢) Find A*B (5pts.) A -
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d)FindAxB(pts) K =<8 =

€) What is the angle between A and B ? You can leave your answer in terms of inverse trig functions as long as it is reduced as much

as possible. (Spts.)
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2. An insect crawls 3m eastward, then 4m northward, then 12m up a wall vertically. Assume that east is the +x direction, north is +y
direction and “up” is +z direction. | &

a) Express his displacement vector r in terms of i, j and k (7 pts.)
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b) Express his displacement vector r in terms of his distance from the origin and angle above horizontal. (8 pts.)
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c) The bug then crawls along a level ceiling a distance of 6m to the southwest (45° south of west). What is his displacement after
completing this leg of his journey? Express your answer in terms of his distance from the origin and angle above horizontal. (10 pts.)
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